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o LIO—F : RHXOEZHHIENHEL
f& ( CRXhl)

{ = "Sumii",

= "Eijiro",
= 20 }

o RIIT b : BHFAMBOENN—D
’RIE ( CEAl)

datatype Int _or_error =
of Int |




¥ (pair, tuple)

e INILNESTHDFHE.
BWHGLI—R
- val t = ('Sumii', "Eijiro", 20) ;

val t = ("Sumit”,"Erjiro',20) :
string * string * iInt

- #1 € ;

val 1t = "Sumii™ : string

- #2 t ;

val 1t = " I string

- #3 t ;

val 1t
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datatype i1tree =

ILeaf of Int
| INode of { left : I1tree,

right :© 1tree } ;
datatype 1tree = lLeaf of Int | INode of
{left:itree, right:itree}
fun Isum t = t

isum (#left r) +
isum (#right r) ;
iIsum = fn - 1tree -> Int
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— fun 1sum t = case t of
ILeaf 1 => 1
INode
isunm I + 1sum r ;

iIsum = fn : 1tree -> Int

EIJ

e , 20)
i

- case => g2 N " "

val 1t = "Erjiro Sumii" : string
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— fun 1sum t = case t of

ILeaf 1 => 1
INode { left = I, right = r } =>

isum I + isum r ; '

isum = fn : itree -> int "Don't care”
(ESTERL)
ZRINZ—2

"Eigiro’, 20) ;

,'"E1jiro",20)
- string strlng * int
- case t of (s1, s2, ) =>s2 ~ "™ "™

val 1t = "Er1jiro Sumii"™ :© string
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fib n = case n of

=> (0
-> 1 FOZDIZYTIEFESGLNES

= fib (n - 1) + fib (n - 2) ;
val fib = fn - 1Int -> Int

o BE NRA—2TF 713

%&Eﬁ'yéﬁnaﬂa DT CED
fun fib 0 =

| fib 1 1
| fib n = fib (n - 1) + fib (nh - 2)
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- datatype 1tree = lLeaf of Int

= | INode of 1tree * i1tree ;

datatype 1tree = lLeaf of Int | INode of
iItree * I1tree

- datatype stree = SLeaf of string

= | SNode of stree * stree ;

datatype stree = SLeaf of string | SNode of
stree * stree

- datatype rtree = RLeaf of real

= | RNode of rtree * rtree ;

datatype rtree = RLeaf of real | RNode of
rtree * rtree
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- datatype "a tree =
= Leaf of "a | Node of "a tree * "a tree ;

datatype "a tree = Leaf of "a | Node of "a
tree * "a tree

fun size t = (* HABLTHEZR SHEBEOM ~)
case t of
Lleaf =>1

| Node(l, r) => size | + size r ;
val si1ze = fn ©: "a tree -> Int
- si1ze (Node(Leaf 3, Leaf 5)) ;
val 1t = 2 :© Int
- si1ze (Node(Leaf true, Leaf false)) ;
val 1t = 2 :© Int
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1. BRNode(Leaf 3, Leaf 5)&Node(Leaf
true, Leaf false)Q)BIF. ENENNICT
2N, ENAHF.

. Bifiistring treelC’e &5 =2%IF

&,
e string tree&strecldFBlOBGATREZEDITSF

3. ANode(Leaf 3, Leaf "abc™) Qi (ii% X+
C. BREBELR S

4.sizehil, 3, 10ICTF D FH RO, —DOF
M. ENENESBRICT B2 E.
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0 "a trecBO@EEZITH > T,
€N hDiLeaflc >»EHtruer,
Nodelg » IED fal se% iR

is_leafZ2EFHE &F.
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optionBlEIlF,
datatype "a option =
SOME of "a | NONE

EERINESHT—RBETH S.

IR T—28int or errorOMhi}ic,
optionBZMI\T, RIBOMY div¥)

my modiciBEd S ZEFRE &.
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datatype "a list =
nil (* 2allRk+ *)
| :: of "a * "a list
(™ EEReRE. BUAIRME
G / — k< (constril) *)
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- [1, 2, 3] ;

val 1t = [1,2,3] - Int list

- [true, false]

val 1t = [true,false] : bool list

- L1 ;

val 1t [] : "a list

- nil ;

val 1t = [] : "a list

-1 :: 12, 3] ;

val 1t = [1,2,3] - Int list

- true :: false :: [] ;

val 1t = [true,false] : bool list
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-1 ::[2, 3] ;
val 1t = [1,2,3] - Int list

- [1, 2] :: [3, 4] ;
stdIn:2.1-2.17 Error: operator and

operand don"t agree [li1teral]

& BT D00

- [1, 2] @ [3, 4] ;
val it = [1,2,3,4] - int list
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. &E (BFROEK) NI THD
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2. 123 :: x&"abc" :: x0)
ESHTERTH—ICToHF),
ENSHNRMIFEIET DN ?
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fun length x =
case x of
nil => 0
| -y =1+ length vy




SRER D . D

ROBZAICEIE, "a treecBiO)
Bt RIBEAIFRCOT a 1istB0
BICEIAG DEEHITsEETFHFE &

— thiLeaf xOEE->1EH., xOHETHER
Ed5 EX101|R%IET,

- thiNode(1, N A -5, EONI
OFREBRE, BORrOFREGRE E
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PR 5. 6 (optional)

1. BAERFEU RV, vy, vs, ..., v, |ZRITER > T,
ENENOBRRICTEBRUEI RK[T v, T
Vo, T ovs, .., T v ]&IRS, ELVS5EEmapZ
2. FE, €O0BREETEHESF.

2. EORIEmap& B 3 MO composelc 6 \T,
FEN R XA SFUEAERTEQICH L,
map (compose T g) x&
(map g (map T x))OnRLHEN
(ElLalF) FLI\CE%Z,
XOBRIICHT 2 FIRNETTE.




